Handout Example Section 2.4: Deciphering a Message Encrypted using a Keyword Columnar Transposition

Example: Suppose we receive the message

“ADDSH  BGSAR  OLGNN  VCAII  SFWDI  AOTRN  LSAUF  RLLWL  OENWE  HIC”

that was enciphered using a keyword columnar transposition with keyword “GILLIGAN”. Since this message has 48 total letters and the keyword has 8 letters,  each column under each keyword letter in the columnar transposition process will have 
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 total letters. Using  the alphabetical order of the keyword letters (keeping in mind that under the repeated letters I and L the columns are ordered from left to right), we can by placing the numbered sequence of letters from the ciphertext:
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under the corresponding matching keyword letter column number (the alphabetical ordering) to get the following array:
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Hence the plaintext message is: “GILLIGANS  ISLAND  WAS  A  WONDERFUL  TV  SHOW  FOR  CHILDREN” (note that  the ABC  was padded to the message in the original encipherment to ensure that the column lengths were equal).
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